Cts…kct campus…2004 

Questions :40 Time: 1Hr

Correct Answer: 1Mark Wrong Answer: 0.25 Marks

 

1) A Man in His Will States that when he dies his wife will get 1/3 of the estate and 2/3 will go to his son, only if a son is born. If a daughter is born wife will get 2/3 and daughter will get 1/3 . The Man dies and his wife gives birth to twins, one boy and one girl. The estate was divided keep the proportion as stated in will .

a) 1/5 b)2/5 c)1/7 d)2/7 (check it Out)

2) |X| ,|Y| ,|X-Y| & |X|-|Y|,Which of the relation is correct

ans: |X|-|Y| <=|X-Y|

3)X>0 and Y>0 X+Y<5 which is true

a)2x+3y<14 b)3x+2y<18 c) d)

4)7291 what is the Unit digit

A man spend his 1/6 of life in childhood 1/12 in bachelor after five years of marriage he got a son who died four years before his father and his age was half of his father age at the time of death
5)what is the mans age ans 84
6)At what age did the man marry
7)age of son ans 42
Analytical and verbal Baron GRE will do. In Analytical Questions Paragraph were given and find conclusion or Presuppositions (Very Very easy)
Q)Pilot alone cannot be blamed for the accidents that are happening .The Investigators have to consider other ……….
Ans)a
Q)The government is has raised the taxes on alcohol and other such substances due to
………………
Ans) To Discourage their Consumption
P,Q,R,S,T were five sisters Age of s was 6 years. R’s age was sum of Q and S .T ‘s age was twice of the sum of Q and S. P is the Eldest …………..
(Very Very easy)
4 Questions on the above Paragraph (very very easy)
8) An Ice Cream with a cone as the base and hemisphere on the top . Radius 2.5 and height of the cone 6 find the area of hemisphere
9) A square is drawn by joining the midpoints of the sides of another square . Another Square is Drawn in the similar fashion This is continued infinitely .If the side of the Square is 4cm Total area is? (ans: 16sqcm)
 

10)In the 17 th Century people some flower……….. why did they prefer
a)Scent b)Beauty c)Elegance d)Colour 
Ans :c
11)Possible sum of all Number of 4 digit numbers with digits 0,1,2,3 no digit should repeat 
37-40) an=3n+1 and bn=3*2n
3 Questions based on this relationship (very very easy)
Q)3 Three Friends (A,B,C) each brought tickets B brought twice that of C and A brought 3 times that of B . Each of their brothers also brought tickets …….
(2 questions on the above para ) (Very very easy)
 

 

The Paper was easy . Out of 300 ,135 cleared the test and 65 got selected. 
They give great importance to Academic results.
Technical Interview: 
6 Panels , Questions ranged from Area of interest to even Politics and other general 
topic.
Some Panel gave more importance to HR Questions especially Suresh(one who did the PPT)
Stay Cool and be prepared for questions in area of Interest(esp. OS ,DBMS)
